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SAMPLE MCQ
Note to the students:- All the Questions are compulsory and carry equal marks .      
	Q1. 
	The Z-Transform X(z) of a discrete time signal x(n) is defined as ____________


	Option A:
	

	Option B:
	

	Option C:
	

	Option D: 
	

	
	

	Q2.
	What is the z-transform of the signal x(n)= u(n)?

	Option A:
	   ; ROC |z|> 0.5

	Option B:
	  ; ROC |z|< 0.5

	Option C:
	  ; ROC |z|> 0.5

	Option D:
	  ; ROC |z|< 0.5

	
	

	Q3.
	The complex valued twiddle factor  can be represented as

	Option A:
	e-i(2π/N)

	Option B:
	e-i(2πN)

	Option C:
	e-i2π

	Option D:
	e-i2πkN

	
	

	Q4.
	Overlap-Add Method Deals with principles that

	Option A:
	 The linear convolution of a discrete-time signal of length L and a discrete-time signal of length M produces a discrete-time convolved result of length L + M - 1


	Option B:
	The linear convolution of a discrete-time signal of length L and a discrete-time signal of length M produces a discrete-time convolved result of length L + M


	Option C:
	 The linear convolution of a discrete-time signal of length L and a discrete-time signal of length M produces a discrete-time convolved result of length 2L +M-1
 

	Option D:
	 The linear convolution of a discrete-time signal of length L and a discrete-time signal of length M produces a discrete-time convolved result of length 2L + 2M – 1

	
	

	Q5.
	DIT algorithm divides the sequence into

	Option A:
	Positive and negative values

	Option B:
	Even and odd samples

	Option C:
	Upper higher and lower spectrum

	Option D: 
	Small and large samples

	
	

	Q6.
	Convolution of two discrete time sequences (n) and (n) is equivalent to

	Option A:
	(K)*(K)

	Option B:
	(K)*(K)}

	Option C:
	(K)*(K)}/N

	Option D: 
	(K)*(K)}

	
	

	Q7. 
	The condition for the impulse response to be anti-symmetric is

	Option A:
	h(n)= -h(N-1-n)

	Option B:
	h(n)= h(N-1-n)

	Option C:
	h(n)= -h(N+1-n)

	Option D: 
	h(n)= h(N--n)

	
	

	Q8. 
	The DFT of sequence x(n)={1,3,2,0} is

	Option A:
	{ 6, -2+i2 , 2, -2-i2}

	Option B:
	{ 6, 2-i2 , 2, 2+i2}

	Option C:
	{ 6, -2-i2 , 2, -2+i2}

	Option D: 
	{ 6, -2+i2 , 2, -2+i2}

	
	

	Q9.
	Linear convolution  y(n) of sequences  x(n)={1,2} and h(n)={2,1}

	Option A:
	{5,5,2}

	Option B:
	{5,2,5}

	Option C:
	{2,2,5}

	Option D: 
	{2,5,2}

	
	

	Q10. 
	For a linear phase filter, if Z1 is zero then what would be the value of Z1-1 or 1/ Z1?

	Option A:
	Zero

	Option B:
	Unity

	Option C:
	Infinity

	Option D: 
	Unpredictable

	
	

	Q11. 
	In an N point sequence , if N=16 , the total number of complex additions and multiplications using Radix-2 FFT are

	Option A:
	64 and 80

	Option B:
	80 and 64

	Option C:
	64 and 32

	Option D: 
	24 and 12

	
	

	Q12. 
	With n-bit binary the possible binary codes are

	Option A:
	

	Option B:
	

	Option C:
	

	Option D:
	

	
	

	Q13.
	The down sampling is called as

	Option A:
	Decimation

	Option B:
	Interpolation

	Option C:
	Filtering

	Option D: 
	Shifting

	
	

	Q14. 
	To avoid aliasing at output  during decimation by D ,the input signal of decimator should be band-limited to

	Option A:
	

	Option B:
	

	Option C:
	

	Option D: 
	

	
	

	Q15.
	Which of the following is true with respect to rounding error ?

	Option A:
	Rounding error of a positive number is always negative.

	Option B:
	Rounding error of a negative number is always positive.

	Option C:
	Rounding error is same in all the formats of fixed point representation.

	Option D: 
	Rounding error is zero.

	
	

	Q16. 
	If x(n) and y(n) are input and output of an interpolator with sampling  rate conversion factor B ,then 

	Option A:
	y(n)=x(Bn)

	Option B:
	y(n)=x(n)/B

	Option C:
	y(n)=x(n/B)

	Option D: 
	y(n)=x(n)B

	
	

	Q17.
	A Linear phase FIR filter has response given by  the order of the filter will be												

	Option A:
	5

	Option B:
	4

	Option C:
	6

	Option D:
	3

	
	

	Q18.
	Specification of analog filter for Butterworth Approximation

	Option A:
	 tan

	Option B:
	 tan

	Option C:
	 tan

	Option D: 
	 tan

	
	

	Q19. 
	The disadvantage  of impulse invariant method is that mapping from analog frequency ‘’ to digital frequency ‘w’ is

	Option A:
	One to one

	Option B:
	Many to many

	Option C:
	One to many

	Option D: 
	Many to one

	
	

	Q20.
	The impulse response of FIR filter is given by h(n)={1,-5,6}. The filter is

	Option A:
	Minimum phase

	Option B:
	Maximum phase

	Option C:
	Mixed phase

	Option D:
	Zero phase

	
	

	Q21.
	The group delay is the delayed response of filter as a function of 

	Option A:
	Phase

	Option B:
	Frequency

	Option C:
	Amplitude

	Option D: 
	length

	
	

	Q22. 
	All zeros are lying outside the unit circle ,then filter is

	Option A:
	Maximum phase

	Option B:
	Minimum phase

	Option C:
	Mixed phase

	Option D: 
	Unity phase

	
	

	Q23.
	Condition for digital filter to be causal and stable

	Option A:
	Poles should lie outside the unit circle

	Option B:
	Zeros ≥ poles

	Option C:
	Poles should lie on the circle

	Option D: 
	Poles should lie inside the unit circle

	
	

	Q24. 
	In Chebyshev Type-1 filter

	Option A:
	The poles lies on square

	Option B:
	The poles lies on circle

	Option C:
	The poles lies on ellipse

	Option D: 
	The poles lies on rectangle

	
	

	Q25.
	The inverse Fourier transform

	Option A:
	converts from the frequency domain to the time domain

	Option B:
	converts from the time domain to the frequency domain

	Option C:
	converts from the phasor domain to the magnitude domain

	Option D: 
	is used to make real-time spectrum analyzers
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